POV

Trova le percentuali

Nome:

82 x

55 %

50 x

77 X

22 x

38 x

28 x

91 x

28 x

% = T73.8

% = 49.5

% = 10

% =".7

% = 13.2

% =19

% =112

% = 54.6

%= 14

% =112

28 x

88 x

61 X

71 %

66 X

75 X

66 X

60 x
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% =15.6

% =704

% = 36.6

% ="1.1

% =594

% = 45

% = 5.6

% =594

% = 36

% = 28

Punteggio:
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DOV

Trova le percentuali

Nome:

82 x90% = 73.8

55 x90% = 49.5

50 x20% = 10

771 x10% = 7.7

22 x60% = 13.2

38 x50% = 19

28 x40% = 11.2

91 x 60% = 54.6

28 x 50% = 14

14 x 80% = 11.2

Data: Punteggio:

28 x20% = 5.6

88 x 80% = 70.4

61 < 60% = 36.6

71 x 10% = 7.1

66 x 90% = 59.4

75 x 60% = 45

8 x70% = 5.6

66 x 90% = 59.4

60 x 60% = 36

35 x 80% = 28
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